FUKUTA

A E SERIES E=enmEEais
AM seRIEs gEREESEIE

www.fukuta-motor.com.tw



FUKUTA®

INTRODUCTION

Bl
AR AR -
FRAEER > RHETHEZ EQEARFEMEXHAIETE » BEAR

BRETMBERABKERER © BRZIZ > JRART > UBEE

=RV
AILER) - HEEMEE - ARREA=ZRZER - BEAMN - BIEMH
BREAR TIFIRIR ; BAICER) - BIRERT > BAOASE » HAEE « A8 @
)\:‘s

ERZER

IR
MEHE > WERNERRRBEEMTE - M EBERAFHEREZ
[RR  FHERAONRMETRE  BEEMEAZERERE 0 UEMHE -

INNOVATION isto create aggressively, pursue customers
satisfaction and maintain the company's ever-lasting prosperity. We strive
for creativity and innovation at all time. Based on the concept of customer-
oriented, we provide satisfying products and service to our customers so
that we can make profits efficiently and maintain the coampany's substantial

prosperity.

ENTHUSIASM isto help each other enthusiastically and achieve
the win-win goals of customers, company, and individuals. We respect
humanity and make a harmonious work environment. Helping each other
enthusiastically means to care about our customers and colleagues so that

we can have prosperous future of customers, company, and individuals.

HONESTY isto offer the society excellent products and service. In order
to meet the demands of society, we continue to make efforts based on the
honest principle to provide services and products of best quality and less

cost so as to make contributions to the society.

FUKUTA

HISTORY

4 BRARRIL -

1988 £

1990 £

REMISE R TER - AREERAEERN -

1993 £

EEFE-FIRAME MBEEAKE -

1996 £

iBiB 1S0-9002 B R EERsE o

1997 £

EEFE-FRAME RRERRSE) -

1998 £

1
2

W?Eiﬁlﬁﬁﬂlﬁﬁi%&%g IR ERAREIE) ZHHBNZ o
2 RFIERBIB CE MARK BUMNZ IR ©

2000 £

1

2). REMIBREEEIRRERRER (T

ZRRERRGE) REFNESEERIRERERRRS

2001 £

1
2

3). 2RVERE

o @2k o

MEAHAEE) SRS HEAEERIEE
F100HP % 150HP RAFERARFIE) MM SBIR st &R o
BiB CSA NE AR EE LR o

2002

1
2
3]

AR A AREE] RES+—EaEERIRGS
REQTRE—EEFREE -
iEi 1S0-9001 BIPR FETE ©

2003 £

=™

3).

. MEEBRAEEASE) BSQEBIER CITD tEHHE -

AEEH/AEVH/AMEH/AMVH %5 if@iE A % R Bl 5 5 R RO B 0
M#FENRAERAEE REFH_EaEEREHE-

5 22%
OEE ©

2004 £

™

2).

. T250HP J 400HP RUFERAREE, M

SACHER R AR SBIR 5HEH#R ©
TRUFE(RARFGEE Frame 225 SEFE+=E&EBERITE ©

2005 F

1

N

VAR XEBHERDAET TRAORT - BHRERE (28X ) KA ER-
PraEEEGEEES -

REAMIL EBRXBRMEARAR ( LiBhEERBME) »

2006 F

(
(
(
(
(
(
(
(
(
(
(
(2
(
(
(
(
(
(
(
(
(
(
(

1
2

4
5
6

).
)
).
)
).
).
)
).
).
).
)
).
)
)
)
)
)-
)-
).
).
). &
)-
)-

BEFEDATIEBRPEARLME CCC 3aHI1EERT:
SRACEER TR SBIR 5138 2004 FEEABNTHERS ©

3 Eﬁim*&ﬂ%ﬁﬁﬂ&k BRAGMERFERLEI -

AOTEBIR AR 2006 FEEZEAMMRES
BREMIEEARRRNBERAR > BRRERERAHESEERL -
REMARBEEGRRE -

2008 F

BSEESMTER T EMMER

Tskw EEREEBHE 2B o

2009 £

(

1

2).

).

SEARKRMHERATBESTHRENHER L > M EEEHEBH T EEE

SUER ©
EAMNERHBRATSEMEAT] T EEHE (Luxgen) EREIFHE -

2010 £

1
2

REMIH R TR AREERAEERLN -
EEN BB ETEB R ERBEAE o

2011 £

1
2]

. BN RE BRI AR E A EE o

SRCTERANE (S EERELAME -

2012

1

2).

SHEATH T EXAR SR
KR FARRAZE

2013 £

1
2

3).
4).

. PM KRS RAREE o

MR ESFRERREPAIFR ZAIFERE
REXE BB EAM RIRREMRERLE -
RECEE S — B S R A B o

2014

1

3

4).

RERESE BT REERBREEIHE
2). 2ERENTER TSR EREIEE

E%Jrisﬁﬁﬁr% °
HY{S42E TUV SUD IE3 B BEEFR
BEH AT ANERRA

2015 £

(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(
(

1

2).
3).

)
).
)
)
)
).
)
)
).
)
)
)
).
).
)
)
)

ARSI EREE T HNHESREMATELANNHE LU -

SREIEERSE 24 EERERLE -
SRELEER MR REE 18 ENEAK -

2016 F

MM PR ERRRE -

EHEHHASELEREDHT 5 st 2019 FEESTM ©

2017 £

SRS EAES TS-16949 mEEERMR

585 ©

2018 £

SRR E— AR E ETURUAE ©

2019

E1S IATF 16949 22:% ©

2020 £

{8 UL 538 ©

2021

(1). SRSBARE 55 — HAMPA KIEIESURLA » LAESEE IDA ~ Muse ~ 12E] ICONIC SEIFREHER

2

LECE
A AR

3). B¥4S IECQ QC080000 535% °

2022

(
(
(
(
(
(
(

1
2

4
5

).
).
).
).
).
).
).

HHABFERETRMAES
TER Jaﬁé@@]ﬁ%ﬁ#%lﬁ‘&%%ﬁi °

3). ODM BENERAEMIKE ©

HR1S 1S0-14001 ~ 45001 50:% ©
B TAREITABL - BRERMSE 4590

FRERNARAR) BHRKFEELERS



Induction Motor
me AE, AM znimus Characteristic

1\ B

RERE

M

Specification

&8 Motor type

+ ZHHEREAREEEHE (SCIM)

= 3 Phase squirrel cage induction motor

& 5H&¥E Design Standards

EIFRETZEE (IEC 60034) REREBEBIZKIZE (CNS 14400)
AATEREHE (JIS C4034-30) R EIEZHKIZ# (GB 12350+GB 18613)

EE Voltage

- IRAERATEEER =48 220V, 380V, 415V, 440V, 460V Al EF P ERF R CAESR
Standard Rated voltage for 220V, 380V, 415V, 440V, 460V available for
customer requirement

38 Frequency

= EBESEZE 50 or 60HZ = Rated frequency 50 or 60HZ

FFRI%EE Rated Time

= EERETE - S1(Continuous)

{7353 Protection Enclosure

- IP54

#4817 Method of cooling

= 2FIC411 B®INGISAD = 1C411 Totally enclosed fan cooling

Z# 73R Mounting

= AE/AMEF : /K24 (IM1001)s AE/AMVF : (y3EZ42%24E (IM3001)

= AE/AMEF : Foot Mounted (IM1001) , AE/AMVF : Flange Mounted (IM3001)
= AMVB: C BUAF %45 (IM3601)

= AMVB : C type flange (IM3601)

ERIIRIE
Ambient
Conditions

EiE Power

- EEREEFE  £10% MR = Voltage variation:within =10%
- SEREET . £5% A = Frequency variation:within £5%
s REEHE U EMEBEREZME 10% XA

= The total value of the absolute value for two points within 10%

¥%Ff Place

s —REA (BREEERERSERZE)
= Shadow, Non - Hazardous

f&iB Temperature

- -15°C ~ 40°C

SREE Humidity

= HEERE 80% T ( FE4ERE)
= Relative Humidity less than 80% RH (Non - condensation)

125 Altitude

= 381K 1000 AR = Lessthan 1000 meter

#E AR Coupling Method

- REEERTSEN;2P-50HP( & ) U L EERREERE
= For belt-driven application; However, for 2 poles 50HP and larger spec.,
it’ s limited for direct-coupled method only.

# [\ Rotation Direction

= [ Available for CW or CCW rotation.

#EEA R Starting Methods

- 2EBEEREBRY/ AKE
Full voltage starting or Y/A starting

&K Bearing Type

HESE F#63~F#250 AT MRS SR S EERH ARG
(HESE F#112~F#250 mIERSE M)

= F#63~F#250 Double shield Non - contact Ball Bearings
(F#112~F#250 Optional oil - lubricated design)

HESE F#280 (& ) U LA M0 SRS EmARIRE

= F#280 and above: Oil-lubricated, Double open design

H48 & Terminal box

- MM EBAREMBEFEOTL WM 00 e s b B HiRR Z AR IESR
A R EE R M B AEAR

= Steel sheet material with cable inlet hole and available for 90° rotation, it
would be on the left side when viewed from the drive end. Standard
products exclude the cable.

HO4 Leads

- HOAR 3.6.9.12 %> MIBEIZGIH T
3/6/9/12 leads, with terminals

EF 48B4 Stator Insulation

IE1 &5

= KESE:63~180M B #R4B4 = Frame No.63~180M B class
= MESE:180L~315L F #k4B%%& = Frame No.180L~315L F class

AM &7 = F#R4B% = Fclass

|IE3/GB3 &% | = F#4B& = Fclass

= BIFRIREEARAR 1SO - M Al

#RM Thread = |SO Metric screw thread
AREF - RIFEIRETZE S (IEC34) = According to IEC 34 testing standard.

Test process

- EAZERENAIE - Usefull voltage starting test.

FUKUTA



Character List E
. I 1 60Hz
IRERMXERERMEE
Frame Torque
v No Efficiency Power Torque rque % (e
% | Factors % S
2 6 250

3430 63 62.0 75.0 1.0 0.6 0.053 240 3 0.0020

1/4 0.185 4 1650 63 66.0 65.0 1.1 0.7 0.109 250 6 3 270 0.0020
6 1090 71 64.0 61.0 1.2 0.7 0.165 200 6 3 250 0.0070

2 3370 71 66.0 86.0 1.7 1.0 0.107 240 12 7 260 0.0020

1/2 0.37 4 1660 71 68.0 78.0 1.8 1.1 0.217 200 12 7 250 0.0050
6 1130 80 66.0 70.0 2,1 1,22 0.319 200 12 7 230 0.0085

2 3450 80 76.0 90.0 2.9 1.7 0.212 220 19 11 280 0.0051

1 0.75 4 1730 80 84.7 80.5 2.9 1.7 0.422 230 19 11 280 0.0100

6 1140 90L 77.0 64.0 4.0 2.3 0.641 200 19 11 230 0.0172

2 3460 90L 81.5 91.0 5,3} 3ol 0.422 250 40 23 280 0.0110

2 1.5 4 1730 90L 81.5 76.0 6.4 31 0.845 220 40 23 280 0.0180

6 1140 100L 84.0 71.0 6.6 3.8 1.282 180 40 23 220 0.0580

2 3480 90L 82.5 86.0 8.1 4.7 0.616 250 68 39 280 0.0131

3 2.2 4 1740 100L 85.5 80.0 8.4 4.9 1.232 210 68 39 260 0.0425

6 1140 112M 85.5 74.8 9.0 5.2 1.881 180 68 39 230 0.0787

2 3450 112M 5,5 90.0 12.6 703 1.045 240 110 64 280 0.0450

5 3.0 4 1750 112M £5.5 84.5 13.4 7.8 2.060 220 110 64 260 0.0720

6 1150 132S 85.5 77.5 14.7 8.5 3.135 180 110 64 230 0.1420

2 3490 132s 86.5 85.0 19.6 11.4 1.536 220 160 93 260 0.0520

7.5 5.5 4 1770 132s 87.5 83.0 19.9 11.5 3.028 220 160 93 250 0.1120
6 1150 132M 87.5 77.5 21.3 12.3 4.661 200 160 93 230 0.1190

2 3510 132S 87.5 93.0 24.2 14.0 2.082 200 200 116 210 0.0680

10 7.5 4 1770 132M 87.5 84.0 26.8 15.5 4.129 220 200 116 250 0.1450
6 1180 160M 87.5 80.0 28.1 16.3 6.194 210 200 116 230 0.4150

2 3550 160M 88.5 90.0 36.2 21.0 3.020 200 290 168 240 0.1530

15 11 4 1770 160M 89.5 83.5 38.6 22.4 6.056 220 290 168 250 0.3100
6 1170 160L 88.5 83.0 39.3 22.8 9.162 210 290 168 230 0.6140

2 3520 160M 88.5 91.0 48.9 28.3 4.153 200 360 208 240 0.2080

20 15 4 1760 160L 89.5 85.5 51.4 29.8 8.305 220 360 208 240 0.3940
6 1170 180M 88.5 85.5 52.0 30.1 12.49 200 360 208 220 1.0500

2 3520 160L 89.5 87.0 62.4 36.1 5.122 200 440 255 230 0.2370

25 18.5 4 1760 180M 91.0 82.0 65.1 37.7 10.24 210 440 255 240 0.6540
6 1170 180L 90.2 84.5 63.7 36.9 15.41 200 440 255 220 1.3350

2 3520 180M 89.5 88.0 7353} 42.4 6.091 200 550 318 230 0.2830

30 22 4 1760 180M 91.0 83.6 75,8) 43.9 12.18 210 550 318 240 0.7150
6 1170 180L 90.2 79.5 80.5 46.6 18.32 200 550 318 215 1.4330

2 3520 180L 90.2 91.5 95.4 55.2 8.305 150 620 359 210 0.3520

40 30 4 1760 180L 91.7 88.0 97.6 56.5 16.61 210 620 359 240 0.8080
6 1170 200L 91.7 87.0 98.7 57.1 24.99 190 620 359 215 2.5580

2 3545 200L 91.0 87.0 122.6 71.0 10.17 150 800 463 210 0.9050

50 37 4 1760 200L QL7 84.5 25,3 2.5 20.49 200 800 463 230 1.5030
6 1170 200L 91.7 84.0 126.1 73.0 30.82 210 800 463 210 3.2360

2 3545 200L 91.7 90.0 143.1 82.8 12.37 170 910 527 220 1.0720

60 45 4 1770 200L 92.4 86.0 148.6 86.0 24.78 190 910 527 220 1.7320
6 1180 225S 92.4 83.0 154.0 89.1 37.16 210 910 527 210 4.1950

2 3550 225S QL7 91.0 173.0 100.1 15.10 180 1200 695 220 1.2150

75 55 4 1770 225S 93.0 88.0 176.4 102.1 30.28 185 1200 695 220 2.7950
6 1180 2508 92.4 86.0 181.6 105.2 45.42 200 1200 695 210 6.4830

2 3555 2508 92.4 85.0 250.6 145.1 20.56 180 1450 839 220 1.7090

100 75 4 1775 250S 93.6 88.0 239.0 138.3 41.18 180 1450 839 220 4.8320
6 1185 250M 93.0 89.0 237.8 137.7 61.68 200 1450 839 200 7.6940

2 3575 250M 93.6 89.0 283.5 164.1 24.53 150 2180 1262 300 2.0530

125 90 4 1775 250M 93.6 88.0 286.7 166.0 49.41 180 2100 1216 220 5.0330
6 1190 280S 93.0 87.5 290.2 168.0 73.70 130 1990 1152 230 9.1850

2 3565 280S 93.6 87.5 352.5 204.1 30.07 120 2274 1317 280 2.6520

150 110 4 1770 280S 94.1 87.0 352.6 204.1 60.56 130 2420 1401 230 6.7280
6 1180 280M 94.1 85.5 358.8 207.7 90.84 130 2420 1401 230 11.200

2 3565 280M 94.1 88.0 418.3 242.2 36.08 100 2678 1550 280 3.1500

175 132 4 1770 280M 94.1 85.0 433.1 250.7 72.67 130 2910 1685 230 7.5830
6 1185 315S 94.1 84.0 438.2 253.7 108.6 130 2910 1685 230 17.850

2 3575 315S 94.1 88.7 471.6 273.0 40.89 110 3100 1795 250 5.1720

200 150 4 1785 315S 94.1 87.0 480.8 278.4 81.89 130 3300 1911 230 11.432
6 1190 315M 94.1 86.2 485.3 281.0 122.8 130 3064 1774 230 20.792

2 3570 5 94.1 88.5 504.2 291.9 43.67 120 3236 1873 250 6.8230

215 160 4 1775 Ji5S 94.1 88.3 505.3 292.6 87.84 130 3530 2044 230 14.132
6 1185 315M 94.1 86.5 5159 298.7 131.6 130 3530 2044 230 23.595

2 3570 315M 94.1 88.5 589.3 341.2 43.67 160 4134 2393 260 8.0280

250 187 4 1775 315M 94.5 90.0 577.0 334.1 102.7 120 4450 2576 230 17.215
6 1190 315L 94.1 83.4 625.3 362.0 153.1 150 4412 2554 200 26.561

2 3570 315M 94.5 88.5 627.6 363.3 54.59 160 4134 2393 260 10.456

270 200 4 1775 315M 94.5 88.0 631.1 365.4 109.8 120 4450 2576 230 20.156
6 1190 315L 94.1 83.3 669.6 387.7 163.8 150 4532 2624 200 29.156

300 220 2 3570 315L 94.5 88.7 704.4 407.8 61.42 160 4154 2405 260 12.156
4 1780 315L 94.5 87.0 718.2 415.8 123.2 180 4600 2663 200 22.156

oF (Note): 1.45MAZEM IEC34 (Examination method according to IEC34)
QU FEEEBEE , BARST@EM e (All data is subject to change without prior notification.)
FUKUTA 3 ECEA 10HP-4P HESE A 132S (Light-weight model : Frame size 132S, output 10HP - 4 Poles.)



Character List
EEREEEZENLE

Output o Full Load Character Starting Character
rame
W No Effluency Power | _Current Amp. | Torque Torque |__CurrentAmp. | ke-m?
Factor % zzov 380V kg-m % 220V 380V &

50Hz

2905 63 56.0 76.5 0.062 0.0020

1/4 0.185 4 1422 63 64.0 68.5 1.1 0.6 0.127 220 6 4 240 0.0020
6 949 71 60.0 60.0 1.3 0.8 0.190 260 6 4 270 0.0070

2 2916 71 68.7 74.8 1.9 1.1 0.124 250 12 7 260 0.0020

1/2 0.37 4 1390 71 67.6 73.0 2.0 1.1 0.259 200 12 7 230 0.0050
6 942 80 63.0 67.0 2.3 1.3 0.383 200 12 7 230 0.0085

2 2820 80 72.1 87.0 3.1 1.8 0.259 220 19 11 280 0.0051

1 0.75 4 1425 80 72.1 80.0 3.4 2.0 0.513 250 19 11 280 0.0100

6 957 90L 70.0 70.0 4.0 2.3 0.764 190 19 11 230 0.0172

2 2807 90L 7.2 89.0 5.1/ 3.3 0.521 250 40 23 280 0.0110

2 1.5 4 1436 90L 7.2 85.0 6.0 BES 1.018 220 40 23 280 0.0180

6 936 100L 75.2 80.0 6.5 3.8 1.562 180 40 23 220 0.0580

2 2842 90L 79.7 88.5 8.2 4.7 0.754 250 67 39 280 0.0131

3 2.2 4 1438 100L 79.7 85.0 8.5 4.9 1.491 210 67 39 260 0.0425

6 950 112M 7.7 80.0 9.3 5.4 2.257 180 67 39 230 0.0787

2 2900 112m 83.1 92.0 12.7 7.4 1.243 240 109 63 320 0.0450

5 3.7 4 1453 112Mm 83.1 83.5 14.0 8.1 2.481 220 109 63 290 0.0720

6 967 1328 81.4 82.0 14.5 8.4 3.729 180 109 63 230 0.1420

2 2937 1328 84.7 90.0 18.9 11.0 1.825 210 161 93 260 0.0520

7.5 5.5 4 1450 1328 84.7 84.0 20.3 11.7 3.696 220 161 93 280 0.1120
6 970 132M 83.1 82.5 21.1 12.2 5.525 200 161 93 230 0.1190

2 2930 1328 86.0 93.0 24.6 14.2 2.494 200 200 116 250 0.0680

10 7.5 4 1468 132M 86.0 84.1 27.2 15.8 4.979 220 200 116 250 0.1450
6 980 160M 84.7 78.5 29.6 17.1 7.458 270 200 116 300 0.4150

2 2950 160M 87.6 88.0 37.4 21.7 3.634 210 290 168 290 0.1530

15 11 4 1460 160M 87.6 84.6 39.0 22.6 7.342 220 290 168 250 0.3100
6 980 160L 86.4 80.0 41.8 24.2 10.94 220 290 168 260 0.6140

2 2950 160M 88.7 88.4 50.2 29.1 4.955 210 361 209 260 0.2080

20 15 4 1460 160L 88.7 85.0 52.2 30.2 10.01 230 361 209 260 0.3940
6 980 180M 87.7 84.0 53.4 30.9 14.92 210 361 209 230 1.0500

2 2950 160L 89.3 90.0 60.4 35.0 6.111 240 463 268 290 0.2370

25 18.5 4 1465 180M 89.3 82.6 65.8 38.1 12.31 210 463 268 240 0.6540
6 980 180L 88.6 80.7 67.9 39.3 18.40 220 463 268 240 1.3350

2 2920 180M 89.9 90.0 71.4 41.3 7.342 210 551 319 250 0.2830

30 22 4 1465 180M 89.9 83.4 77.0 44.6 14.63 210 55l 319 240 0.7150
6 980 180L 89.2 84.4 76.7 44.4 21.88 230 551 319 260 1.4330

2 2920 180L 90.7 91.0 95.4 55.2 10.01 210 687 398 240 0.3520

40 30 4 1460 180L 90.7 84.0 103.3 59.8 20.02 220 687 398 230 0.8080
6 980 200L 90.2 83.0 105.2 60.9 29.83 190 687 398 200 2.5580

2 2940 200L 91.2 87.5 121.7 70.4 12.26 150 800 463 210 0.9050

50 37 4 1478 200L 91.2 87.1 122.2 70.8 24.40 190 800 463! 210 1.5030
6 970 200L 90.8 80.3 133.2 77.1 37.17 230 800 463 250 3.2360

2 2955 200L 91.7 87.0 148.0 85.7 14.84 160 1005 582 220 1.0720

60 45 4 1477 200L 91.7 84.1 153.1 88.7 29.69 190 1005 582 200 1.7320
6 980 2258 91.4 84.0 153.8 89.1 44.75 220 1005 582 250 4.1950

2 2956 225S 92.1 87.2 179.7 104.1 18.13 180 1005 582 220 1.2150

75 55 4 1470 225S 92.1 85.0 184.4 106.7 36.46 180 1252 725 200 2.7950
6 980 250S 91.9 84.0 187.0 108.2 54.69 200 1252 725 210 6.4830

2 2980 250S 92.7 87.8 241.8 140.0 24.53 180 1601 927 220 1.7090

100 75 4 1475 250S 92.7 88.0 241.3 139.7 49.55 240 1601 927 250 4.8320
6 975 250M 92.6 87.0 244.3 141.4 74.96 220 1601 927 250 7.6940

2 2980 250M 93.0 88.5 287.0 166.1 29.43 150 2397 1388 300 2.0530

125 90 4 1475 250M 93.0 92.0 276.1 159.8 59.46 190 2150 1245 230 5.0330
6 975 280S 92.9 81.0 339 181.7 89.95 130 1986 1150 230 9.1850

2 2980 280S 93.3 86.0 359.8 208.3 35.97 120 2501 1448 280 2.6520

150 110 4 1490 280S 93.3 91.8 337.0 195.1 71.94 130 2418 1400 230 6.7280
6 975 280M 93.3 81.0 382.0 221.1 109.9 130 2418 1400 230 11.200

2 2980 280M 93.5 87.5 423.4 245.1 43.17 100 2945 1705 280 3.1500

175 132 4 1475 280M 93.5 83.5 443.7 256.9 87.21 130 2902 1680 230 7.5830
6 980 3158 93.5 83.5 443.7 256.9 13,3 130 2902 1680 230 17.850

2 2980 315S 93.8 88.7 473.1 273.9 49.05 110 3099 1794 250 5.1720

200 150 4 1475 315S 93.8 86.9 482.9 279.6 99.10 130 3299 1910 230 11.432
6 980 315M 93.8 85.7 489.7 283.5 149.2 130 3064 1774 230 20.792

2 2980 3158 93.8 87.0 514.5 297.9 52.37) 120 3558 2060 250 6.8230

215 160 4 1480 315S 93.8 86.4 518.1 300.0 105.4 130 3506 2030 230 14.132
6 980 315M 93.8 85.5 523.6 303.1 159.1 130 3506 2030 230 23,585

2 2980 315M 94.0 87.0 600.1 347.4 61.15 160 4546 2632 260 8.0280

250 187 4 1480 315M 94.0 87.5 596.7 345.4 123.1 120 4405 2550 230 17.215
6 980 315L 94.0 82.9 629.8 364.6 185.9 150 4411 2554 200 26.561

2 2980 315M 94.0 87.0 641.8 371.6 65.40 160 4546 2632 260 10.456

270 200 4 1480 315M 94.0 88.5 630.9 365.3 1317 120 4405 2550 230 20.156
6 980 315L 94.0 83.3 670.3 388.1 198.9 150 4531 2623 200 29.156

300 220 2 2980 315M 94.0 88.7 708.2 410.0 73.58 160 4152 2404 260 12.156
4 1480 315L 94.0 85.0 739.0 427.8 148.1 180 4600 2663 200 22.156

5 (Note): 1.45M/AZMk IEC34 (Examination method according to IEC34)
2 UEHEEEEE , WL S17@Me (All data is subject to change without prior notification.)
* BB A 10HP-4P HESE A 132S (Light-weight model : Frame size 132S, output 10HP - 4 Poles.) FUKUTA



Character List I E 3 coHa
BENERESEETES

T ex

Output Full Load Character Starting Character
Frame Torque
w No Efficiency Power Current Amp. Torque rque % Ke-m?2
% Factor% | 220v | 380v % 220V 380V é
2 30

[
350 26 15 4

3530 80 77.0 82.4 3.1 1.8 0.0071

1 0.75 4 1750 80 85.5 74.4 3.1 1.8 390 26 15 420 0.0120

6 1145 90L 82.5 69.6 3.4 2.0 195 20 12 265 0.0192

2 3500 90L 85.5 84.3 5.5 3.2 335 46 27 395 0.0130

2 1.5 4 1750 90L 86.5 78.5 5.8 3.4 325 51 30 385 0.0200

6 1165 100L 88.5 68.6 . 3.8 170 44 25 270 0.0600

2 3500 90L 86.5 85.6 7.8 4.5 390 70 41 400 0.0151

3 2.2 4 1770 100L 89.5 77.3 8.3 4.8 320 75 43 330 0.0445

6 1160 112M 89.5 72.2 8.9 5.2 170 57 33 265 0.0807

2 3540 112M 88.5 92.0 11.9 6.9 320 120 69 385 0.0470

5 BN 4 1760 112Mm 89.5 87.5 12.4 [ 225 110 64 825 0.0740

6 1165 1328 89.5 78.7 13.8 8.0 185 105 61 280 0.1440

2 3550 132S 89.5 86.0 18.8 10.9 245 140 81 295 0.0540

7.5 5.5 4 1770 132s 91.7 84.8 18.6 10.7 250 160 93 310 0.1140
6 1175 132M 91.0 76.2 20.8 12.1 230 170 98 345 0.1210

2 3550 132S 90.2 89.5 24.4 14.1 2553 200 116 300 0.0700

10 7.5 4 1778 132M 91.7 83.0 25.8) 15.0 270 230 133 320 0.1470
6 1175 160M 91.0 79.1 27.3 15.8 240 210 122 285 0.4170

2 3560 160M 91.0 89.2 35.6 20.6 235 280 162 285 0.1550

15 11 4 1780 160M 92.4 82.5 37.9 21.9 245 290 168 275 0.3120
6 1170 160L 91.7 80.1 39.3 22.8 250 320 185 290 0.6160

2 3540 160M 91.0 91.8 47.1 273 240 390 226 290 0.2100

20 15 4 1780 160L 93.0 83.4 50.8 29.4 255 400 232 285 0.3960
6 1185 180M 91.7 80.8 53.1 30.8 240 340 197 260 1.0520

2 3535 160L 91.7 92.1 57.5 33.3 260 500 289 295 0.2390

25 18.5 4 1770 180M 93.6 86.3 60.1 34.8 250 470 272 265 0.6560
6 1180 180L 93.0 82.4 63.4 36.7 280 530 307 300 1.3370

2 3570 180M 91.7 87.9 71.6 41.5 225 560 324 280 0.2850

30 22 4 1775 180M 93.6 85.4 72.2 41.8 220 560 324 250 0.7170
6 1180 180L 93.0 84.3 73.6 42.6 215 590 342 285 1.4350

2 3546 180L 92.4 84.6 100.7 58.3 251 801 464 310 0.3540

40 30 4 1777 180L 94.1 81.4 102.8 59.5 284 831 481 353 0.8100
6 1180 200L 94.1 82.1 101.9 59.0 210 620 359 240 2.5600

2 8555 200L 93.0 89.0 117.3 67.9 170 960 556 295 0.9070

50 37 4 1780 200L 94.5 84.0 122.3 70.8 215 870 504 250 1.5050
(9 1185 200L 94.1 83.0 124.3 72.0 240 860 498 250 3.2380

2 3555 200L 93.6 90.9 138.8 80.4 160 1000 579 265 1.0740

60 45 4 1775 200L 95.0 84.8 146.6 84.9 215 1050 608 260 1.7340
6 1185 225S 94.5 84.3 148.2 85.8 240 1090 631 260 4.1970

2 3560 225S 93.6 89.0 173.3) 100.3 220 1473 853 260 1.2170

75 55 4 1785 225S 95.4 87.9 172.1 &), 1 160 1440 834 260 2.7970
6 1185 250S 94.5 84.5 180.8 104.6 190 1260 729 260 6.4850

2 3575 2508 94.1 90.5 231.1 133.8 170 1761 1020 260 1.7110

100 75 4 1780 2508 95.4 86.9 237.4 137.5 190 1870 1083 300 4.8340
6 1185 250M 95.0 85.5 242.3 140.3 185 1620 938 250 7.6960

2 3575 250M 95.0 89.0 279.3 161.7 160 2358 1365 310 2.0550

125 90 4 1785 250M 95.4 89.1 277.9 160.9 200 2540 1471 305 5.0350
6 1185 280S 95.0 88.0 282.5 163.6 240 2600 1505 250 9.1870

2 3580 280S 95.0 88.0 345.3 199.9 135 2850 1650 250 2.6540

150 110 4 1785 280S 95.8 89.6 336.3 194.7 210 2900 1679 260 6.7300
6 1185 280M 95.8 89.6 336.3 194.7 210 2900 1679 240 11.230

2 3575 280M 95.0 88.0 414.4 2389 150 3109 1800 250 3.1800

175 132 4 1790 280M 95.8 86.0 420.5 243.4 155 3109 1800 315 7.6100
6 1190 35S 95.8 85.0 425.4 246.3 265 3455 2000 275 17.880

2 3575 315S 95.4 90.8 454.4 263.1 150 3860 2235 250 5.2000

200 150 4 1785 315S 96.2 87.0 470.3 272.3 130 3800 2200 330 11.460
6 1190 315M 95.8 81.5 504.2 291.9 265 3264 1890 275 20.820

2 3579 35§ 95.4 90.0 489.0 283.1 160 3800 2200 250 6.8500

215 160 4 1788 35S 96.2 87.0 501.7 290.5 130 3800 2200 330 14.160
6 1190 315M 95.8 85.5 512.6 296.8 220 4197 2430 220 23.630

2 3580 315M 95.8 90.0 563.1 326.0 180 3601 2085 280 8.0600

250 185 4 1785 315M 96.2 86.0 586.8 339.7 220 4905 2840 290 17.250
6 1190 315L 95.8 81.5 621.8 360.0 190 4411 2554 250 26.590

2 IBE 315M 95.8 89.0 615.6 356.4 140 3784 2191 240 10.490

270 200 4 1790 315M 96.2 87.0 627.1 363.1 180 4983 2885 260 20.190
6 1190 315L 95.8 82.5 664.1 384.5 180 4538 2627 250 29.190

300 220 2 3570 315L 95.8 89.9 670.4 388.1 140 4058 2349 240 12.190
4 1780 315L 96.2 87.0 689.8 399.4 180 5012 2902 200 22.190

5F (Note): 1.HMAZEMIEC34 (Examination method according to IEC34)
QU FHEEBEE , BAST@EM e (All data is subject to change without prior notification.)

FUKUTA



—I- e b

Output o Full Load Character Starting Character - Inertia
rame
W No Effluency Power | _Current Amp. | Torque Torque |__CurrentAmp. | ke-m?
Factor % 220v 3sov kg-m % 220V 38°V &

‘“‘ wwwes |E3/GB3

2860 80 80.7 87.9 0.256 0.0071

1 0.75 4 1440 80 82.5 76.6 3.1 1.8 0.508 315 24 14 375 0.0120

6 940 90L 78.9 70.6 3.5 2.0 0.778 200 19 11 235 0.0192

2 2879 90L 84.2 87.4 5.3 3.1 0.508 340 41 24 360 0.0130

2 1.5 4 1450 90L 85.3 80.9 5.1/ 3.3 1.008 320 47 27 360 0.0200

6 965 100L 82.5 70.2 6.8 3 i1.515 175 41 24 250 0.0600

2 2845 90L 85.9 87.6 1.7 4.4 0.754 330 64 37 355 0.0151

3 2.2 4 1460 100L 86.7 75.6 8.8 5.1 1.468 300 69 40 315 0.0445

6 960 112M 84.3 72.5 9.4 5.5 2.233 175 55 32 265 0.0807

2 2930 112m 88.1 §il,3) 12.1 7.0 1.231 290 109 63 345 0.0470

5 3.7 4 1465 112m 88.6 82.9 13.2 7.7 2.461 235 109 63 305 0.0740

6 965 8PS| 86.8 76.6 14.6 8.5 3.736 200 100 58 275 0.1440

2 2940 1328 89.2 87.3 18.5 10.7 1.823 230 138 80 290 0.0540

7.5 5.5 4 1460 1328 89.6 80.2 20.1 11.6 3.671 240 145 84 295 0.1140
6 970 132M 88.0 85.2 19.3 11.1 5.525 225 164 95 335 0.1210

2 2950 1328 90.1 91.0 24.0 13,9 2.478 270 190 110 300 0.0700

10 7.5 4 1470 132M 90.4 84.4 25.8 14.9 4.972 260 209 121 315 0.1470
6 970 160M 89.1 78.7 28.1 16.3 [E585) 270 200 116 280 0.4170

2 2960 160M 91.2 88.0 36.0 20.8 3.621 230 264 153 280 0.1550

15 11 4 1480 160M 91.4 82.0 38.5 22.3 7.243 230 273 158 270 0.3120
6 970 160L 90.3 81.9 39.0 22.6 11.05 250 290 168 285 0.6160

2 2950 160M 91.9 91.6 46.8 27.1 4.955 230 363 210 290 0.2100

20 15 4 1470 160L 92.1 83.3 5.3 29.7 9.94 250 3173 216 280 0.3960
6 970 180M 91.2 82.9 52.1 30.1 15.07 220 318 184 235 1.0520

2 2930 160L 92.4 92.9 56.6 32.7 6.153 250 454 263 300 0.2390

25 18.5 4 1470 180M 92.6 83.3 62.9 36.4 12.26 235 446 258 265 0.6560
6 980 180M 91.7 81.7 64.8 37.5 18.40 285 501 290 310 1.3370

2 2935 180M 92.7 89.2 69.8 40.4 7.305 225 546 316 270 0.2850

30 22 4 1475 180M 93.0 83.1 4.7 43.3 14.53 215 535 310 255 0.7170
6 975 180L 92.2 82.5 758 43.9 21.99 265 554 321 285 1.4350

2 2950 180L 93.3 91.5 92.2 53.4 9.910 255 791 458 330 0.3540

40 30 4 1475 180L 93.6 83.9 100.3 58.0 19.82 215 682 395 260 0.8100
6 980 200L 92.9 85.5 99.1 57.4 29.83 210 582 337 220 2.5600

2 2950 200L 93.7 87.7 118.2 68.4 12.22 185 936 542 300 0.9070

50 37 4 1480 200L 93.9 85.1 121.5 70.3 24.36 205 836 484 255 1.5050
6 980 200L 93.3 87.8 118.5 68.6 36.79 210 800 463 245 3.2380

2 2955 200L 94.0 91.0 138.1 79.9 14.84 165 981 568 270 1.0740

60 45 4 1485 200L 94.2 84.0 149.2 86.4 29.53 205 1000 579 270 1.7340
6 985 225S 93.7 86.1 146.4 84.7 44.52 235 1028 595 270 4.1970

2 2958 225S 94.3 89.2 171.6 99.3 18.12 220 1387 803 260 1.2170

75 55 4 1485 225S 94.6 85.5 178.5 103.3 36.09 250 1318 763 275 2.7970
6 985 2508 94.1 83.6 183.5 106.2 54.41 195 1245 721 275 6.4850

2 2977 250S 94.7 88.5 234.8 136.0 24.55 180 1827 1058 220 1.7110

100 75 4 1480 2508 95.0 86.5 239.5 138.7 49.38 180 1655 958 295 4.8340
6 985 250M 94.6 84.7 245.6 142.2 74.20 185 1546 895 260 7.6960

2 2970 250M 95.0 90.5 274.7 159.0 29.53 150 2196 1272 285 2.0550

125 90 4 1480 250M 95.2 91.3 271.7 157.3 59.26 205 2418 1400 295 5.0350
6 985 280S 94.9 84.3 295.2 170.9 89.04 215 2548 1475 265 9.1870

2 2980 280S 95.2 90.5 335.1 194.0 35.97 200 2580 1494 240 2.6540

150 110 4 1480 280S 95.4 87.6 345.4 200.0 72.43 180 2729 1580 230 6.7300
6 985 280M 95.1 87.6 346.5 200.6 108.8 270 2729 1580 270 11.230

2 2980 280M 95.4 90.5 401.2 232.3 43.17 200 3089 1788 240 3.1800

175 132 4 1484 280M 95.6 88.0 411.8 238.4 86.68 180 2876 1665 230 7.6100
6 988 3158 95.4 85.0 427.2 247.3 130.2 200 3000 1737 240 17.880

2 2980 315S 95.6 90.6 454.3 263.0 49.05 200 3859 2234 250 5.2000

200 150 4 1484 315S 95.8 87.5 469.6 271.9 98.50 180 3800 2200 230 11.460
6 988 315M 95.6 81.6 504.4 292.0 147.9 170 3263 1889 250 20.820

2 2980 315S 95.6 91.0 482.7 279.4 52.32 200 3716 2152 250 6.8500

215 160 4 1485 3158 95.8 88.0 498.1 288.4 105.0 180 3487 2019 230 14.160
6 988 315M 95.6 85.0 516.7 208).7) 157.8 170 3636 2105 250 23.630

2 2980 315M 95.8 91.0 556.9 322.4 60.50 200 4074 2359 250 8.0600

250 185 4 1485 315M 96.0 88.0 574.7 332.7 121.4 180 3720 2154 230 17.250
6 988 315L 95.8 85.0 596.2 345.2 182.5 170 3539 2049 230 26.590

2 2980 315M 95.8 91,5 598.8 346.7 65.40 200 4611 2669 250 10.490

270 200 4 1485 315M 96.0 88.0 621.3 S5O 131.2 180 4353 2520 230 20.190
6 988 315L 95.8 86.0 637.1 368.8 197.3 170 4545 2632 250 29.190

300 220 2 2980 315L 95.8 91.0 662.3 383.4 71.94 140 4059 2350 240 12.190
4 1485 315L 96.0 86.0 699.3 404.9 144.4 200 5091 2947 260 22.190

i (Note): l.'ﬁ’\'ﬁ-‘t@%f{‘zIEC34(Examination method according to IEC34)
2. U LEEEEEE MRS TEH - (All datais subject to change without prior notification.)

FUKUTA



AE series | INDUCTION MOTOR

INDUCTION MOTOR

AE BEAZ(
TE1 163 GB3

iR 2 B X [E I &) i

Standard Induction Motor,
Iron-casting Frame,

» Foot Mounted.

(L (AD)

(AC)

8|
=
g
2
8
[Tl
3
(HD)

O
1HN

#
il

(LE)

Fig.1

Specifications #i 1#& B3 Dimensions R <

put HP)
Frame

1
1/2 l/2 1/4 = 71 1 112 BIES) 138 163.5 129 107 90 119 45 71 11 152
1 1 1/2 1/4 80 1 125 38 155 175 138 114.5 100 130 50 80 9 168
2,3 2 1 1/2 90L 1 140 35.5 170 201 151 129 125 150 56 90 10 190
- 3 2 1 100L 2 160 45 196 218.5 173 144 140 175 63 100 12.5 241
5 5 3 2 112M 2 190 45 224 236 181 153 140 175 70 112 14 265
7.5,10 7.5 5 3 1328 2 216 46 254 273 213 176 140 175 89 132 16 310
= 10 7.5 5 132M 2 216 46 254 273 213 176 178 213 89 132 16 310
15, 20 15 10 7.5 160M 3 254 75 300 334 245 207.5 210 256 108 160 18 373
25 20 15 10 160L 3 254 75 300 334 245 207.5 254 300 108 160 18 373
30 25,30 20 15 180M 3 279 80 355 381 293 240.5 241 297 121 180 20 417
40 40 25, 30 20 180L 3 279 80 355 381 293 240.5 279 335 121 180 20 417
50, 60 - - - 200L 3 318 80 398 423 319 268 305 350 133 200 24 466
= 50, 60 40, 50 25, 30 200L 3 318 80 398 423 319 268 305 350 133 200 24 466
75 - - - 225S 3 356 94.5 453 473 390.5 321 286 354 149 225 30 526.5
= 75 60 40 225S 3 356 94.5 453 473 390.5 321 286 354 149 225 30 526.5
100 - - - 250S 4 406 104 501 526 468.5 379 311 425 168 250 37 589.5
= 100 75 50 250S 4 406 104 501 526 468.5 379 311 425 168 250 37 589.5
125 - - - 250M 4 406 104 501 526 468.5 379 349 425 168 250 37 589.5
= 125 100 60 250M 4 406 104 501 526 468.5 379 349 425 168 250 37 589.5
150 - - - 280S 5 457 110 560 637 544 434 368 445 190 280 36 705
= 150 125 75 280S 5 457 110 560 637 544 434 368 445 190 280 36 705
175 - - - 280M 5 457 110 560 637 544 434 419 496 190 280 36 705
= 175 150 100 280M 5 457 110 560 637 544 434 419 496 190 280 36 705
200, 215 - - - 315S 5 508 115 615 632 544 434 406 490 216 315 40 740.5
= 200,215 175,200 125 Sil5S| 5 508 115 615 632 544 434 406 490 216 3l 40 740.5
250, 270 - - - 315M 5 508 115 615 632 544 434 457 540 216 315 40 740.5
= 250, 270 215 150 315M 5 508 115 615 632 544 434 457 540 216 35 40 740.5
300 300 250, 270 - 315L 5 508 115 615 632 544 434 547 667 216 315 40 740.5

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28:j6 @38~ @48: k6 @55~ @95: m6
2.Tolerance of Shaft Center Height “H” :+0 ~ — 0.5 280S~315M” H” : +0~ — 1
3.EL IRMEAINEM M o (IE1 Spec. is limited for oversea sales market.)
FUKUTA "



(AD)

Standard Induction Motor

AE Series

(L (AD)
) "o
— D,
/ E
o o
® ED
? o) ' T s
= ) z A~ e
—
< - T 2
@
e g — 2 s > 51
i ALLﬂ Ll jwiinii ] ‘|
we B:0.5 c e \'.Aﬁa e | e o = - o
o A0.5 (we) (M) B0.5(M) —t 705
(AB) (8B) 5 i 60K (AB)
.1}
[ DHTap
Fig.2 Fig.4
@) D) w D)
)
USABLE SHAFT_LENGTH (*o
@ E 1
@ i o
ED H £ o 0,
> 5 QW = [
a ED a
z I
- z ; = (/N = A = )
@) - E . — =S
N 7
9
o 3 L s o 8 J ) i
z ] £ B @ E
e i i - i o T I z 9 Oy
e | B10.5 |l < oKK we ) we | Bt ] c Fo o) e
(88) B10.5 =8 — "

Fig.3

GA

(AB)

Fig.5

29 7
42.5 7
44 10
54 10
60 12
75 12
73 12
73 12
88 14.5
88 14.5
95 14.5
95 14.5
114 18.5
114 18.5
152 18.5
152 18.5
155 24
155 24
155 24
155 24
94 24
94 24
94 24
94 24
129 28
129 28
129 28
129 28
129 28

"HRHERSEMRE, SERERBUERBNEES , AREARFHTE

22
22
22
28
28
35
35
35
85)
52
52
65
65
92
92
92
92
92
92

240
273
325
367
388
448
486
612
656
669.5
707.5
773
803
781
811
882.5
912.5
882.5
912.5
1039.5
1103.5
1089.5
1153,
1133
1193
1184
1244
1367

75

83

94
104
118
139
139
184
184
198

1975

225
225
236

293.5
2835
255.5
2555
371.5
375,59
370.5
374.5
401
401
401
401
524

5 K
22 221 78

Shaft End

Beari

ngs

14
19
24
28
28
38
38
42
42
48
55
55
60
55
65
55
75
55
75
55
85
55
85
55
95
55
95
95

30
40
50
60
60
80
80
110
110
110
110
110
140
110
140
110
140
110
140
110
170
110
170
110
170
110
170
170

25
35
45
55
55
75
75
105
105
105
105
105
135
105
135
105
135
105
135
80
140
80
140
80
140
80
140
140

104
157
104
157
104

4
5
6
8
8
8

10
10
12
12
14
16
16
18
16
18
16
20
16
20
16
22
16
22
16
25
16
25
25

11
15.5
20
24
24
33
33
37
37
42.5
49
49
53
49
58
49
67.5
49
67.5
49
76
49
76
49
86
49
86
86

12.5
16
21.5
27
31
31
41
41
45
45
51.5
59
59
64
59
69
59
79,5
59
79,5
59
90
59
90
59
100
59
100
100

M4*10 620127
M5%12.5 620277
M6*16 620427
M8*19 620577
M10*22 620627
M10*22 6306722
M12*28 630827
M12*28 6308772
M16*36 630977 / C3(2P)
M16*36 630977 / C3(2P)
M16*36 6311727 C3
M20*42 631277 C3
M20*42 631377 C3
M20*42 631377 C3
M20*42 631527 C3
M20*42 631577 C3
M20*42 631627 C3
M20%42 631677 C3
M20*42 631627 C3
M20%42 631677 C3
- 6320 C3
= 6320 C3
- 6320 C3
= 6320 C3
- 6320 C3
= 6320 C3
- 6320 C3
= 6320 C3
- 6320 C3

620127
620277
620327
620477
620527
630527
630627
6306727
630727 / C3(2P)
6307ZZ / C3(2P)
631027 C3
631077 C3
621277 C3
621277 C3
6213727 C3
621377 C3
631327 C3
631377 C3
631327 C3
6313727 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3

Hlo (All datais subject to change without prior notification.)

11 =
15 18
22 26
30 39
40 47
60 68
70 75
115 124
1S5) 146
170/180 187/197
210 217
280/310 300/330
280/310 300/330
360 367
5il3 560
552 570
792 792
850 850
1050 1050
1100 1100
1660 1700



AE series | INDUCTION MOTOR

L INDUCTION MOTOR

AE 3z
TE1 13 GB3

iR e BY X & 5 B i

Standard Induction Motor,
Iron-casting Frame,

» Flange Mounted.

w (AD)

(LB E (A0 4 Holes'S © (D)
o (LB) E (AE) 4 Holes-S
(LD) T

= | ) 75

[l

oN

[Ty
.

(BAC)

-
U
[

ol | J] .
- oKK
N\ = AN
Fig.l Fig-z BH Tap

B5 Dimensions R

Frame Fi
No. g
AD AE KK L . LB LD
63 94 - 22 221 12 198 36

Specifications ¥ #&

1/4 1/4 1 142 120 130
1/2 1/2 1/4 - 71 2 162 133 109 - 22 268 11.5 238 74 130
1 1 1/2 1/4 80 1 175 138 119 - 22 272.5 10 232.5 48 165
2,3 2 1 1/2 90L 2 196 155 132 - 22 364 11 314 106 165
- 3 2 1 100L 1 219 170 144 141.5 28 367 16 307 71 215

5 5 3 2 112M 2 234 181 154 152 28 428 15 368 118 215
7.5,10 7.5 5 3 1328 3 268 214 176 178 35 448 19 368 88 265
- 10 7.5 5 132M 3 268 214 176 178 35 486 19 406 106 265
15, 20 15 10 7.5 160M 4 319 246 208 215 35 612 20 502 128.5 300
25 20 15 10 160L 4 319 246 208 215 35 656 20 546 151 300
30 25, 30 20 15 180M 4 355 300 244 239 52 669.5 20 559.5  151.5 350
40 40 25, 30 20 180L 4 355 300 244 239 52 707.5 20 597.5  170.5 350
50, 60 - - - 200L 5 399 320 263 264 65 773 20 663 163 400
- 50, 60 40, 50 25,30 200L 5 399 320 263 264 65 803 20 663 163 400
75 - - - 2255 6 448.2 372 303 301.5 92 781 22 671 190 500

- 75 60 40 2258 6 448.2 372 303 301.5 92 811 22 671 190 500
100 - - - 250S 6 498.1 4557  366.5  323.6 92 882.5 22 772.5 216 500
- 100 75 50 2508 6 498.1 4557  366.5  323.6 92 912.5 22 772.5 216 500
125 - - - 250M 6 498.1 4557  366.5  323.6 92 882.5 22 772.5 216 500
- 125 100 60 250M 6 498.1 4557  366.5  323.6 92 912.5 22 772.5 216 500
150 - - - 280S 7 605 544 434 425 - 1089.5 25 979.5 232 600
- 150 125 - 280S 7 605 544 434 425 - 1149.4 25 979.4 232 600
175 - - - 280M 7 605 544 434 425 - 1089.5 25 979.5 232 600
- 175 150 - 280M 7 605 544 434 425 - 1149.4 25 979.4 232 600
200, 215 - - - 3155 7 874 544 434 434 - 1128.5 25 1018.5 251 600
= 200,215 175,200 125 315S 7 874 544 434 434 - 1188.5 25 1018.5 251 600
250, 270 - - - 315M 7 874 544 434 434 - 1179.5 25 1069.5 277 600
- 250, 270 215 150 315M 7 874 544 434 434 - 1239.5 25 1069.5 277 600
300 300 250, 270 - 315L 7 874 544 434 434 - 1366.5 25 1196.5 340 600

= Remark: 1.Tolerance of Shaft End Diameter “D”: @11~ @28:j6 @38~ 048: k6 @55~ @60: m6
2.Tolerance of Guidance Diameter “N”:h7
FUKUTA 3.EL #R1EASMNEE A o (IE1 Spec. is limited for oversea sales market.)



(BAC)

(BAC)

(BAC)

(LB) E (AE) 4 Holes-S
ma % \
= 7 D= ’s \
n = )
i——ul ”
AN : s
Fig.3
(LB) E (AE) 4 Holes-S
2 . : 5
ﬂ .‘ Tr\ zly N
BN i —
L %
Fig.4 o
(LB) E 8 Holes-S
%ﬂ Eif —
LU JL—
AN
Fig.5

Standard Induction Motor
AE Series

oN
oP

= (LD) J £
@ ]
g RS =
: L
|
Fig.6

w

GA

(LB)

USABLE SHAFT
LENGTH

(LD)

=

(HB)

BAC

M

8 Holes-S

8 Holes-S.

Fig.7

I—
:‘1 = S = S
", z| g & [ .
Q= SENBEAE)
§
o ééi F
—H 457155
wll 5 /DNT

Shaft End

110
130
130
180
180
230
230
250
250
300
300
350
350
450
450
450
450
450
450
550
550
550
550
550
550
550
550
550

CERNHERSERE, AEREREUERBNELZE , ARARTHITE

160
200
200
250
250
300
300
350
350
400
400
450
450
550
550
550
550
550
550
660
660
660
660
660
660
660
660
660

10
12
12
15
15
15
15
19
19
19
19
19
19
18.5
18.5
18.5
18.5
18.5
18.5
24
24
24
24
24
24
24
24
24

3.5

oo OO OO 0O O O oo Lot Loyl Lk LB AR B

o

14
19
24
28
28
38
38
42
42
48
55
55
60
55
65
55
75
55
75
55
85
55
85
55
95
55
95
95

30

40

50

60

60

80

80

110
110
110
110
110
140
110
140
110
140
110
140
110
157
110
157
110
170
110
170
170

25
35
45
55
55
75
75
105
105
105
105
105
135
105
135
105
135
105
135
80
140
80
140
80
140
80
140
140

Tl [ o] v [ oo | oo [0 [ o

104
157
104
157
104
157
104
157
157

20
16
22
16
22
16
25
16
25
25

11
15.5
20
24
24
33
33
37
37
42.5
49
49
53
49
58
49
67.5
49
67.5
49
76
49
76
49
86
49
86
86

12.5
16
21.5
27
31
31
41
41

79.5
59
79.5
59
90
59
90
59
100
59
100
100

M4*10
M5%12.5

M6*16

M8*19
M10*22
M10*22
M12*28
M12*28
M16*36
M16*36
M16*36
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42

62017
6202727
620477
6205727
620627
630627
630822
630877

630927 / C3(2P)
630927 / C3(2P)

631177 C3
631277 C3
631327 C3
631377 C3
631527 C3
631577 C3
631627 C3
631627 C3
631677 C3
631627 C3
6320 C3
6320 C3
6320 C3
6320 C3
6320 C3
6320 C3
6320 C3
6320 C3
6320 C3

620177
620227
620327
620427
620527
630527
630622
630622
630722 / C3(2P)
630727 / C3(2P)
631027 C3
631027 C3
621277 C3
621277 C3
621327 C3
621377 C3
631327 C3
631327 C3
631327 C3
631327 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3
6316 C3

Hlo (All data is subject to change without prior notification.)

11 =
16 19
25 29
33 42
45 52
65 73
75 80
120 129
140 151
175/180  195/200
220 227
280/300 300/330
280/300 300/330
390 420
525 530
560 565
785 813
850 850



AM series | INDUCTION MOTOR

12 INDUCTION MOTOR

AM EAZL

AMEF

9 S B X & = B

Standard Induction Motor,
Aluminum Frame,

» Foot Mounted.

’EQ‘
~
&
N\
— L ] e
® Eol 2
_ e
2 - z
Es
g =
NE= \ =
= T Il T
! !
(LE) B:‘O.S C
(BB)

B3 Dimensions R -t Shaft ti 77 8 R <t

. Foot
AB j AC HA § HC | HE LE
||a

11//% 11//21’ - - 63 0 120 112 106 40 63 8.5 176 MG20 211.5 68.5 4 8.5 12.5 M4*10 6201ZLU 6201ZLU
1/2 1/2 1/4 - 71 112 140 133 90 119 45 71 8 192 162 7 MG20 245 80 14 30 25 5 11 16 M5*12.5 6202ZLU 6202ZLU 9
1 1 12 - 80 125 155 156 100 130 49.5 80 9 209 179 10 MG20 274.5 85 19 40 35 6 15.521.5 M6*16 6204ZLU 6203ZLU 12

2,3 2 1 1/2 90L 140 170 175 125 150 56 90 11 230 199.5 10 MG20 322 91 24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 18
- 3 2 1 100L 160 195 192 140 175 63 100 12.5 257 220.5 12 PG21 360 97 28 60 55 8 24 31 MI10*22 6206ZLU 6205ZLU 23

5 5) 3 2 112M 190 224 219 140 175 70 112 14 282 2455 12 PG21 388 118 28 60 55 8 24 31 MI10*22 6306ZLU 6305ZLU 31

7.5, 1.5,

10 10 5 3 132S 216 250 268 140 180 89 132 17.5 326 289 13 @35 448 139 38 80 75 10 33 41 MI12*28 6308ZLU 6306ZLU 50

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~@28: j6 @38~@48: k6
2.Tolerance of Shaft Center Height “H” :+0~-0.5
3.EL1 3B AINEE A (IE1 Spec. is limited for oversea sales market.)

FUKUTA



Standard Induction Motor

AM Series

§¢ = BY X [E F B i

Standard Induction Motor,
Aluminum Frame,

» Flange Mounted.

[(8) (AD)

(8] (AD)
(LB) E (LB)

(LD) T

(BAC)
(BAC)

B14

Shaft tH 77 8 R ~F B5/B14 Flange R+t B5 Flange R~ B14 Flange R

Flange
Bearmgs m unted
LD
i i IEl

11 23 18 4 8.5 12.5 M4*10 6201ZLU 6201ZLU . M5*10 . 6

14 30 25 5 11 16 M5*12.,5 6202ZLU 6202ZLU 133 121 91 245 215 77 12 130 110 160 10 3.5 85 70 105 M6*11 2.5 9
19 40 35 6 15.521.5 M6*16 6204ZLU 6203ZLU 156 129 99 27452345 85 12 165 130 200 12 3.5 100 80 120 M6*11 3 13
24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 175 140 109.5 322 272 116 12 165 130 200 12 3.5 115 95 140 M8*15 3.5 19
28 60 55 8 24 31 MI10*22 6206ZLU 6205ZLU 192 157 120.5 360 300 126.5 16 215 180 250 15 3.5 130 110 160 M8*15 3.5 25
28 60 55 8 24 31 M10*22 6306ZLU 6305ZLU 219 170 133.5 391 331 142 16 215 180 250 15 4 130 110 160 M8*15 3.5 34
38 80 75 10 33 41 MI12*28 6308ZLU 6306ZLU 268 194 155 448 368 139 19 265 230 300 15 4 165 130 202 M10*20 4 55

= Remark: 1.Tolerance of Shaft End Diameter “D” :011~028: j6 @38~@48: k6
2.Tolerance of Guidance Diameter “N”:h7

FUKUTA



AM series | INDUCTION MOTOR

14 INDUCTION MOTOR

AM EAZL

T 7 (53

9 S B X & = B

Standard Induction Motor,
Aluminum Frame,

» Foot Mounted.

’EQ‘
~
&
N\
— L ] e
® Eol 2
_ e
2 - z
g
g =
NE= \ B
= T Il T
! !
(LE) B:‘O.S C
(BB)

B3 Dimensions R 3+ Shaft t 77 # R <+
. Foot
AB LE
B30 Y e

1 80 125 155 49.5 80 209 179 MG20 274.5 85 6 15.5 21.5 M6*16 6204ZLU 6203ZLU

2 8 90L 140 170 175 125 150 56 90 11 232.5199.5 10 MG20 322 91 24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 20
5 112M 190 224 219 140 175 70 112 14 282 2455 12 PG21 388 118 28 60 55 8 24 31 M10*22 6306ZLU 6305ZLU 38

7.5,10 132S 216 250 268 140 180 89 132 17.5 326 289 13 @35 448 139 38 80 75 10 33 41 MI12*28 6308ZLU 6306ZLU 50

Foot
5 IIIIIIHIIII T

80 125 155 8.5 222.5189.5 MG20 277.5 87.5 19 40 35 6 155 21.5 M6*16 6204ZLU 6203ZLU 15

2 1 90L 140 180 196 125 56 90 12 250 210 10 PG21 325 94 24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 23
3 2 100L 160 196 219 140 63 100 12.5 273 233 12 PG21 371 108 28 60 55 8 24 31 M10%22 6206ZLU 6205ZLU 28
5 3 112M 190 224 234 140 70 112 14 290.4 251 12 PG21 390 120 28 60 55 8 24 31 MI10*22 6306ZLU 6305ZLU B5

7.5 5 132S 216 250 268 140 89 132 17.5 326 289 13 935 448 139 38 80 75 10 33 41 MI12*28 6308ZLU 6306ZLU 57

= Remark: 1.Tolerance of Shaft End Diameter “D” :@11~@28: j6 @38~048: k6
2.Tolerance of Shaft Center Height “H” :+0~-0.5

FUKUTA



M 3¢

AMVK

§¢ = BY X [E F B i

Standard Induction Motor,
Aluminum Frame,

» Flange Mounted.

[(8) (AD)

(LB) E

(8]

Standard Induction Motor

AM Series

(AD)

(LB)

(LD) T

(BAC)
(BAC)

Shaft i 77 8 R <7

AC
156

LB

12 8 3 Y e
19 40

LD

35 6 15.521.5 M6*16 6204ZLU 6203ZLU 129 99 274.5234.5 85
24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 175 140 109.5 322 272 118.5
28 60 55 8 24 31 MI10*22 6306ZLU 6305ZLU 219 170 133 391 331 142
38 8 75 10 33 41 MI12*28 6308ZLU 6306ZLU 268 201 158 449 369 137

Shaft i 77 8 R ~F

B5/B14 Flange R <+

AC
I 2 Y e
40 35 6 175

B14

B5/B14 Flange R <t B5 Flange R <t Bl4 Flange R <

Flange
mounted
LA S T S T
12 165 130 200 12 3.5 100 80 120 M6*11 3 13
12 165 130 200 12 3.5 115 95 140 M8*15 3.5 20
16 215 180 250 15 4 130 110 160 M8*15 3.5 38
19 265 230 300 15 4 165 130 202 M10*20 4 53

Flange
mounted
AD AE L LB LD | LA S T S T
IE3
295 235 90 12 165 130 200 12 3.5 80 120

B5 Flange R <F

B14 Flange R <f

19 15.5 21.5 M6*16 6204ZLU 6203ZLU 142.5 109.5 100 M6*11 3 16
24 50 45 8 20 27 M8*19 6205ZLU 6204ZLU 196 160 120 364 314 140.5 11 165 130 200 12 3.5 115 95 140 M8*15 3.5 26
28 60 55 8 24 31 MI10*22 6206ZLU 6205ZLU 219 173 133 374 314 133 16 215 180 250 15 3.5 130 110 190 M8*15 3.5 35
28 60 55 8 24 31 M10*22 6306ZLU 6305ZLU 234 178 139 428 368 182 15 215 180 250 15 4 130 110 200 M8*15 4 43
38 80 75 10 33 41 M12*28 6308ZLU 6306ZLU 268 201 158 449 369 137 19 265 230 300 15 4 165 130 202 M10*20 4 62
= Remark: 1.Tolerance of Shaft End Diameter “D” :@11~028: j6 @38~048: k6
2.Tolerance of Guidance Diameter “N”:h7
FUKUTA



%E ﬁff{ Motor Wiring Diagram

L

6 Lead zzz @_@_@ 9 Lead @_@_@ ZZZ

W2 U1 U1 Us

® 00
W1§{ %UZ Power line Power line U V2 @ @ @
Vz—’m\”
V1
W5 ﬁ{wz V5

Low Voltage Delta High Voltage Wye
Run Start
(A) (N

Power line Power line
Low Voltage Delta High Voltage Wye
Run Start
(2N (N

coe sse oo
. 388 eee ces eec

w1 ue6 Power line Power line Power line Power line
Run Start Run Start
V6 V5 V2 Al YN 2.4 N N
------- Lowvolt --....: <-.-... Highvolt -.....:

% ..F ﬁn% E ,JJ Naming Convention

AEEFA 40051

REAR BERR RE/ ZE BH &h

o e e 606 o6 o

(1 -3¢ (2031 % O/ QEy O 5n O #Hx

Motor Type Installation method Standard or Poles Output Hz
customized
AERERIRIFEE BN VF:iI3 IE1 Flange Mount, IE1 A:#Z%E Standard 2:2 1% Poles R50:0.5 1:50
Induction Motor Iron- EF:BAZL IE1 Foot Mount, IE1 B: & & Customized 4:4 1% Poles 005:5 2:60
casting Frame VK:iZ= IE3 Flange Mount, IE3 6:6 1 Poles 010:10
AM S RIRIFEEEH EK:EAZL IE3 Foot Mount, IE3 025:25
Induction Motor VT:13{ GB3 Flange Mount, GB3
Aluminum Frame ET:EAZ{ GB3 Foot Mount, GB3
- BHREERS ARE LB REE R B SA#M o (For customized product, please contact us for further inquiries.)
FUKUTA



- O O O O O O @ @nm

% E E I-QE - i%! EE Motor Bases (Optional)

'Fx05
2F£0.5

BN

A
<
BN
FUKUTA
<

BF
\‘ |
BF

B ]

&g
BH+0.5

vV ¥ |

4-9B7

BH+0.5

Tam. 1 mm ] Crm | o

BE BE ‘ BE BE ‘

F#160 - F#180 F#200L

FRAME FRAME
iaito [ o ] s  [oe o s fanfoufon s  or [ (305 | 4 | o [ c [ oo on fouon] ez <

160M~L 324 80 87 125 185 25 50 395 410 15 210 254 200L 390 135 100 160 230 35 75 570 510 20 305

180M~L 366 90 94.5 140 205 30 55 450 450 15 241 279

FUKUTA



FUKUTA



FUKUTA



INNOVATION < ENTHUSIASM - HONESTY

® = M & 4 AR {2\ nNg
FUKUTA® EORERUERAR

#2/2 5] Headquarter / #i#E Tongluo Plant
BEHERMRIDEL AR 6 5%

No 6. Tongke 6th Road., Tongluo Township, Miaoli
County 366, Taiwan (R.0.C.)

Tel: 886-37-980799 Fax: 886-37-980709

ETRE/ PEEXRAM

BEEHRHHEES TS 18 5t

No.18, Fenggoing S. Rd., Shen Kang Dist., Taichung
City 429, Taiwan (R.0.C.)

Tel: 886-4-2515-9568 Fax: 886-4-2515-9538

WHRKE FengZhou Plant

BEAFHHEEEMEE 301 & 2-1 5%

No. 2-1, Ln. 301, Feng Chou Rd., Shen Kang
Dist., Taichung City 429, Taiwan (R.0.C.)

Tel: 886-4-2528-8833 Fax: 886-4-2528-3979

EEEHHR

MIEHMORCER TR 14255518
Tel: 886-2-2601-9559 Fax: 886-2-2601-5119

© 2023 FUKUTA ELEC. & MACH. CO., LTD. ALL RIGHT RESERVED. EHEH#RMHERAS © RIERA 2023.07

FEEXEMN
BFEMREXEE 2015 15% 118
Tel: 886-6-2098-236 Fax: 886-6-2085-402

BFAERED #HAR4 YTK

T 556-0011 AR ARRAREXH#FH 2-10-70
BABN—DZ2T— 19 B

Tel: 81-06-7662-8687 Fax: 81-06-6777-7941

EHEH SR
Website Catalogue




